EARAZROREIERT — 2 N— XBISY —F 2021538148 (H) 11[\EIKR3H

M C2FHME Yo% —i% ‘ [%48] /J\EEJ‘ [eEmsh]l  — |4 (&) 14000 g
[AE£] 1% :270,000 ™  23%&:95,000H”  3%&:54,000M  43%&:27,000H . 573&:14,000 4
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
i 7 STy SRS 4 5 Egi;i% 1:29.3 6-4-3-1 |38.8| — 1 472 E%Eﬁﬁéﬁlﬁl)
. (_) _ B =
Qi IAfO— BioA—2 T ) | gr xm
2 3| 7ANT R Ho4 igsﬂgi%k 1:(29).6 1-1-1-1 394 — | 6 | 502 Z%EEQ(*iR)
. 2 = =
R:Td—WKYyT B:IRTL4F 0 abas
SN e 410 | SEBE 1:29.6 5-4-4-4 | 38.7| — 2 478 | IVMRE (KIR)
3 o | VY 56.0 ye EIEEE
RIN=Y TS BRTA RS- e 13) | sganis
3 AT B4 | AKIBE 1:30.0 2-2-2-3 [ 39.7| — 8 429 | TEER (KR)
4|7|8| 7Ry T>U>T 54.0 21/2 BN
QIASLTFysa BiIN-O-X @12 M2 28" kop_ i
5lglg|vT1raNYTZ H 6 giﬁigm’@ (1:30.2 8755 [39.2| — | 4 | 43 Eéﬁi (2R
. 11/2 =
RRFAT-AE B:ORETIEX ) © 153552 -957-4
FREEN 4t 4 | BAKIE 1:30.5 4-4-6-6 |39.6 | — 7 440 | TEER (OKR)
6111 j:r\_/t)j/_ R L) (1 3/4) o) |ERWE
2 Py [SHUE A BB S
7 6| VIVHYY /X 6 Eﬁ%l"% 1:31.8  [11-11-11-11] 30.7 | — | 10 | 470 T%ﬁi (E&R)
~ . 8 _ IIMETEA
QixqyamE—5— BIS—FNEU—h ® 9| aiinis
- S o4 | BAMW 1:31.9 7-8-8-7 |40.7| — 9 447 | ZHEE (KR
SRd 4 ;:_/t/:/ P . 56.0 (1/2) () | ) TTTF
: o3 > BYLAMRXA HEE {3
> # o7 | HER 1:31.9 10-10-10-9 | 40.4 | — 11 460 | HF=— (KiR)
9lgli1| 777 56.0 Fav EHRE
RN=YISL BiTANFU—F %) O Viarr -4
ol o S5 TP P — £ 9 sjgﬁg’r% 1:(32).7 3-3-7-8 | 42.0| — 3 494 iﬁéii (BEF)
RiHATAT = BFaTIA == R ity
2 o 4 5 | REB— 1:33.1 9-9-9-10 |41.8| — 5 a1 | HEEE (KR
1|8l10| T7F1 bET5— 5.0 212 T | xEEET
ZonNd BiFTIINIZAIN ( ) N P NN
® 1 —F—EBIERL
1=3—F— 3,8,9,1,2,7,4,5,10,11,6
2ol=7r= 3,8,9,(1,2,7),5,4,10,11,6
BEE 3,8,7,2,5,1,9,4,10,11,6
40—F— (3,7),8,2,5,1,4,9,11,10,6
[ N3
BB 7 320/ 714K 3-7 630 e 3-6 1,190 3JEHE 2-3-7 2,390
8 B 7 130M 2-7 270 B = 3-7 2,500 K31 7-3-2 18,310M
3 240M 2-3 990M B H 7-3 3,690
2 140

ARICOVWTRDTEEERROODE. TR LI,



